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QUESTION 1

Choose the Distance Vector Protocols from the list below: 

A. OSPF 

B. RIPv1 

C. RIPv2 

D. IS-IS 

Correct Answer: BC 

 

QUESTION 2

A router has two admin groups defined (GREEN=1 and RED=3). An interface is associated to both admin groups. What
value will be shown in the Admin Group sub-TLV for this interface? 

A. 0x4 

B. 0x5 

C. 0x10 

D. 0xa 

Correct Answer: D 

 

QUESTION 3

What is the purpose of a T-LDP session? 

A. It allows link LDP to be configured on the edge devices only. 

B. It is used to signal the transport labels in the provider core. 

C. It allows selective control over which devices are configured for LDP. 

D. It is used to signal the service labels in the provider core. 

Correct Answer: D 

 

QUESTION 4

Click on the exhibit button below. 
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Assuming the customer only needs to monitor traffic from PE3 to the customer site, what three items are missing from
PE3\\'s configuration? (Assume that the IP/MPLS network structure between the local and remote PEsis in place.) 

A. The mirror destination configuration on PE5 is missing the "remote-source" command, 

B. The mirror destination on PE3 needs a "remote-source" command. 

C. The mirror service IDs on the local and remote destinations must match. 

D. The mirror source on PE3 needs a "remote-source" command. 

E. The mirror source command on the remote PE3 needs a command that tells it to monitor port 1/1/2. 

Correct Answer: ACE 

 

QUESTION 5

Which of the following is FALSE regarding link-state protocols? 

A. Each router constructs its own link-state database with updates received from neighbors. 

B. When a router performs an SPF computation, it sends the results to its neighbors. 

C. An SPF computation is done by each router to determine the best path to destination prefixes 

D. The link-state database is identical for all routers in a single area routing domain. 

Correct Answer: B 
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